Kakue uz HPE,HJIG)KEHHI:IX HITKE IICITOYCEK MOAHO BBEIBECTH B IpEIMMElTHKB
G = {S — AC|BS|CSC; C — Dbls; A — a; B — b; D — d} — KC

1) ddabb 2) bbdba 3) adbdb 4) bdabb

Pemenne
1) 1S=
1.1 S=@AC 1.2S =@S 1.3 S = CSC
U U U
aC bS DbSC
U U U
TYITHK TYITHK dbSC
U
TYIIHK

2) S =>BS = b S = bBS = bbS = bbCSC = bbDbSC

= bbdbSC = bbdbS = bbdbAC = bbdbal = bbdba

3) S =CSC =@C = CB8CC =8CC = ACCC = aCCC

= aDbCC = adbCC = adbDbC = adbdbl = adbdb

4)1.S=>
1.1 S=>AC 1.2S =@®BS 1.3S = CSC
U U U
aC bS DbSC
U U U
TYIIHK bCSC dbSC
U U
bDbSC TYIHK
U
bdbSC
U
TYIIHK

OtseT: 2) bbdba, 3) adbdb



